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QUESTION 1

Which of the following is correct?

A. Impact analysis assesses the effect on the system of a defect found in regression testing.

B. Impact analysis assesses the effect of a new person joining the regression test team.

C. Impact analysis assesses whether or not a defect found in regression testing has been fixed correctly.

D. Impact analysis assesses the effect of a change to the system to determine how much regression testing to do.

Correct Answer: D

QUESTION 2

What is the MAIN objective when reviewing a software deliverable?

A. To identify potential application failures by use of a test specification.
B. To identify defects in any software work product.

C. To identify spelling mistakes in a requirements specification.

D. To identify standards inconsistencies in the code.

Correct Answer: B

QUESTION 3

Which of the following is MOST important in the selection of a test approach?
A. Availability of tools to support the proposed techniques.

B. The budget allowed for training in proposed techniques.

C. Available skills and experience in the proposed techniques.

D. The willingness of the test team to learn new techniques.

Correct Answer: C

QUESTION 4
As part of which test process do you determine the exit criteria?
A. Test planning.

B. Evaluating exit criteria and reporting.
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C. Test closure.
D. Test control.

Correct Answer: A

QUESTION 5

You have designed test cases to provide 100% statement and 100% decision coverage for the following fragment of
code.

if width > length then biggest_dimension = width else biggest_dimension = length end_if The following has been added
to the bottom of the code fragment above. print "Biggest dimension is " and biggest_dimension print "Width: " and width
print "Length: " and length How many more test cases are required?

A. One more test case will be required for 100 % decision coverage.

B. Two more test cases will be required for 100 % statement coverage, one of which will be used to provide 100%
decision coverage.

C. None, existing test cases can be used.
D. One more test case will be required for 100% statement coverage.

Correct Answer: C
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